B N ERE

1. LEA4

THE4 R 6 — 8 A 2 5 FitabBhtEsR{th T3

T4 LRI AR A T R L EAE AR (REN, N Hidt
2. TENE

1) EB4

n

BEIEBET T OB #)

2) T I& ROBE « MY LT

3) T i1} 740 H [ H A 64E11H21H
= AFn 84E11H30H

4) T EgE

i@ Aokt 5w m




)

B N ERE

T4 | R6— 8EMIIFE 2 5 NipEEfh T4

THXSy « TfE - FER A B & & B # ] ) 7
OB HE R = 1 51, 367, 438
s T Y 1 7,307, 265
PEHI T Y 1 1,548,070 | HEHI (BYEH) 1, 300 m3
=2 ER
b S (WBh) 1 =K
T CEBL- ERIRY &)
PEHI T Y 1 5,517,815 | A (FEBS) 500 m3
=2 ER
TR HI B 1, 900 m3
U
b S (WBh) 1 =K
T CEBL- ERIRY &) ;
b S (WBh) 1 =K
U
FEIA (=27) (WPB) 1 =K
L4
e T = 1 87,165 |#&Hh 1 =
HIFL (v-17)
e T = 1 154, 215 |34t 1 =
HIFL (v-17)
avy)-MESE T 2V 1 24, 804, 073
LT 2V 1 120, 650 | FEEI#IE 1 =
LT 2V 1 441,485 | HAEIERR 349 m2
2y - MESEARR T Y 1 10, 202, 418 |avy)—} 487 m3
18-5-80BB W/C=60% ;
T 1 =K
2% =X
[E-HS =3 1 365,980 | Mlak=v7)- 15 m3
18-5-80BB W/C=60% ;

-1 - ESR o3 E < o] 3 ok S




THEL | R6— 8EBHIE 25 Tt T5
THX5y - T - fljl Bz ¥ = & F # pilll &) 7
T 1 eV
AT K 1 13,673,540 |2/7)=} 643 m3
18-5-80BB W/C=60%
P 1 ®
(KT = 1 13, 455, 837
T HER T = 1 24,040 | THHE KR 1 100 m3
4. 0mpL E ;
1))~ ML s T 7 1 327,915 | & Wi 1 2
1))~ ML s T 7 1 4,570,900 | iz UE(R 1 2
SZEERME G
ES oy 1 eV
SEERME L
A B S T e 1 651,377 | &M% 1 BV
A B S T = 1 5,342,500 | JEHEYES 1 e
A7 1 A
VB K ALE S T = 1 239, 166 | & WIB)3# 1 e
Y K AL 1 N
VB K ALE S T = 1 1,269, 473 | L (i 1 e
ES oy 1 eV
Y K AL 1 N
T o 1 39,000 | & MR ! A
7 v N AR
B st fa % T = 1 132,500 | A& iR/ 1 BV
Je=7 V=50t ;
75 Al = ! BIT, 596 | #acaie | X
PeA 0 1 A
e T 2 1 41,370 | (% 1 2
P
BEVEBS 1A 1 BV
/NI AR SR B
-2 - = 22im Aokt 5Bl




T4 | R6— 8EMIIFE 2 5 NipEEfh T4

THRX4y « THE - i Bz ¥ = & Hm il N 7
TEHE T Y 5, 800, 263
B E T = 3,188,238 | EHfiEME HEA) 1 E
B T = 2,612,025 |‘EHIEWRE (HA) 1 =
RS Y 51, 367, 438
Il R = 131, 555, 698
s fEeE = 125, 161, 698
TR = 1 107, 836, 056 | FEAEMRE (HRA) 1 =
o
BEA TR (D) 1 2V
o
BEA TR (R 1 2V
IINERER
BEA T (MR D) 1 2V
IINERER
EHAUTEE 1 2V
N
et 2V 1 1,650,902 | A7k # 1 =X
REPTRE 1 2V
bR B 1 2V
s 2V 1 866, 000 |75 /71 AR 4 1 =
et g g =X 1 353,600 |av7)-MEEAT K EHIE BRIC & B EBR 16 [a]
R = 1 13,865, 140 | = fE# (FIHE) 1 =
A ML 1 2V
o
PR Ry he 1 2V
/N
-3 - B P K N o3 L i3 D




B N ERE

T4 | R6— 8EMIIFE 2 5 NipEEfh T4

THEXS - T - FER B ¥ & & Hm a1l W 3
EFE LB 1 2V
IINERER
WELE 1 it
N
Bl REUER (FE L) Y 1 590, 000
IR (Rt L) Y 1 6, 394, 000
il TR Y 1 182,923, 136
Bl 2V 1 42, 849, 000
T =5 Y 1 225,772,136
— R B 2V 1 32, 547, 864
T =AM Y 1 258, 320, 000

-4 - ESR o3 E < o] 3 ok S




